Quiz 10 A

1.
daf sumFreguencies (C):
# Create an empty dicticnary teo store freguencies
Fo= {1
# Loop through word dicticnary keys
for k in D:
# If the first letter is a key in F,
# increment the walue bky the new words wvalue
if k[0] im F:
F[k[O]] += D[k]
# Else add tc the dictionarﬂ
alse:
F[k[O]] = DIk]
return F
2.
def fibo(n):
print n
if n == 1:
return 1
if n == Z:
return |
if n % 2 == 0:
return fikbo(n-2) 4+ fikboc{n-=1)
alse:
return fikbo(n=1) 4+ fiko(n==2)
# Main procgram
x = fibo(5)
print "The 5th Fikecnacci numbker is:", x
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The 5th Fibonacci number is: 5



